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What we do know definitely about email is that it

shows incredible diversity in both form and function. In

response to parental pressure, a reluctant ten-year-old

sends Grandma an email, thanking her for a Christmas

present, while a trial lawyer puts opposing counsel on

notice, by email, that his client refuses to settle. After

dispatching a hastily written email to a friend, saying T'll
be late for our luncheon meeting today, I turn around

and carefully edit my email requesting a larger budget

next year. Trying to characterize email style with a "one

size fits all"

describing an "average" American meal:

minestrone?

cappuccino? By

definition

is about as meaningless
Meatloaf

Potato pancakes or pad thai? Cola

now, email has become

SO

domesticated, at least in the United States, that its style

and content are as various as the people using it.

@ varied styles and uses of email

Pointl. 22| X

A 2E(1~2nd line): ZZX FH|Z(G)
F/M R EE(3~7th line): OfAlQ] LI(SL, S2, S3, S4)
Ul =& 2% (7~11th line): HIRE St FH 9l Z=
OpX|8f 22 (11~13th line) X Zl=(Restatement; A 22

incredible diversity => variousZ, form ==> styleZ,
function => contentZ2| paraphrase)
Point2. O2|F=2 =X 75

£ of oy a

diversity Flol A= HAES SOl B Jts

20| = In response to parental
reluctant
pressure?tO| QlutatA|
hastily H O LtE carefully edite] CHxQo| 2o

meaningless

domesticated

—_ A
SN HUATt TR
so ~ that.2 £ QIIBAE S Tt
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Z=0| Point 1 F1

& Vocabulary

diversity Crkd

reluctant OFX| 23| st HE|=
opposing counsel MHOHH BSAL
settle (= S8) &2IE L}

hastily ME&2{A

dispatch EL}{C}

one size fits all R0 £F ML=,
ol Ffel

minestrone O|{|AEZU|(OFA ItAE}
22 O|Ez|oty $m)

pad thai Tt E}O|(Ef=2| I R2)
domesticated: &l I, HALE|

dos and don'ts s{of & Zi1} SHAM=
o E 7, Wt @ 7%

& O{¥H9| Points

- while a trial lawyer puts opposing
counsel on notice, by email, [that /
which] his client refuses to settle.

=> &Z49| thato| Zast xtz|d. 2
ACHHAL AL BHYHo=Z XZstH
o E(20] Ue Fhte HYTY)

- By now, email has become so
domesticated, at least in the United
States, [that / which] its style and
content are as various as the people
using it.

=> so ~ that .. 29| that0o| EQ
Sh X2l AAl BACEAL AL
SHoR AR o I

& Translation

PEZF HX L HO| CHsiM ZE
1 s A2 A0 HEiet YIS

FoM 2E = Bl US OAY
HojFa Uot= Ho|oh. fRo ¢
of £ O|A, DIX|RS) dt= & &
Ol ZOLofA ZZ|20tx M=
ol ZAtSts ®A @HS =
HoOoH ¥E BIAs HdOE
AtOIA TAL REoR Kpilol A
golg B AS ARUCL 1
th U= 25 Fd 2o =& Ao
2t MEY 2 WA 2ES A
EdWl 2o, SOM3OM WiEol o &
2 OisS ¥sts Lol WA RHES
MSSHA +=Fotot WA Ho| HE)
g 250 % HEEE vIHA F
oz EFXLHL = A2 'EZH
oI Oj=elel AL DIEZZQIX| 0|
HAEZY X, ZA HWHO|ZLAX|
It EOIQIX|, EEFAUX|, FHEX| L QK|
2 BAMSHE ARFO|Lt Aol Folh|
SIC OlH|, WA HE2 HO{Z 0|70
ME E23 ZOLSOIMA 1 HEfet
W2 IAS MESts AFESTS0l
Lt ChFStot
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Suppose we need to measure the temperature in a vineyard. If we
have only one temperature sensor for the whole plot of land, we
must make sure it is accurate and working at all times; no messiness
allowed. In contrast, if we have a sensor for every one of the
hundreds of vines, we can use cheaper, less sophisticated sensors (as
long as they do not introduce a systematic bias). Probably, at some

points, a few sensors may report incorrect data, creating a less exact,

or "messier," dataset than the one from a single precise sensor. Any
particular reading may be incorrect, but the collection of many

readings will provide a more comprehensive picture. Because this

dataset consists of more data points, it offers far greater value that
likely compensates for its messiness.

@ the benefit of obtaining a large set of data

Pointl. H| Sl CHZ=O| X

only one temperature
a sensor for every one of
sensor for the whole plot

the hundreds of vines

of land
.. | a few sensors may report
must make sure it is | | .
. incorrect data, creating a
CH™ | accurate and working at all . o
. less exact, or ‘"messier,
times
dataset
the collection of many
HA | no messiness allowed readings will provide a

more comprehensive picture

Point2. 0|
M A

29| =X 2 “The Wisdom of Crowds"E Ct2 AX|E 0|2l
X| 2 (2013 EBS E8lEs BEEX|: Captured and adapted
from Thinking, Fast and Slow by Daniel Kahneman)

Imagine that a large number of observers are shown glass jars
containing pennies and are challenged to estimate the number of
pennies in each jar. As James Surowiecki explained in his best-selling
The Wisdom of Crowds, this is the kind of task in which individuals
do very poorly, but pools of individual judgments do remarkably well.
the

many judgments are averaged,

others
the

average tends to be quite accurate. The mechanism is straightforward:

Some individuals greatly overestimate true  number,

underestimate it, but when
all individuals look at the same jar, and all their judgments have a
common basis. On the other hand, the errors that individuals make
are independent of the errors made by others, and (in the absence
of a systematic bias) they tend to ____ . However. error
reduction works well only when the observations are independent and
their errors uncorrelated."

increase constantly

average to zero

@

@

® emerge unconsciously

@ be independent of the size of the jar
@

skyrocket abruptly
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ZoE 2EHAMO HIRE &

o

8 “The Wisdom of Crowds"

o #elE 295t AUS. H
7ol 220 siYste == =

-i>| r|r
FII:I

O gl= |=H=]
e EIEETT'__Ol

N
& Vocabulary

vineyard ZEih mZQl
plot (58 8z2))

S2tAp

— - —

-

o xZ

II—Q
= =

messiness
sophisticated Hust M=

= KMze

bias ®, X2

precise et HaUst

reading (#7|0f LIEH) ZH3L
comprehensive Z$HAQl, TZX QI

compensate for ~2 AfA|7|

[l
LY

& Translation

2217t ZzHoM REE FHS

Of otCt ZPEstA Qref 2|7t

Lol MA F=0o CHsiM 2=

Lol 2= ZX[7|2t ZHX[Z1 UCH
&

B, 22)= Q0| Hesln aA
RSl QX OISO B
S22 S8 ReCh g
DO, QIOF 3|7} 44 120 B
TR B a2t ZK|7|E 7
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19. g =9 FHz 718 HEs A27?
(554 34 3t)

Although the nature and range of agricultural products
found in most American communities are shaped by
by
important environmental, social, political, and economic

the decisions made large multinational  firms,

reasons justify the re-emergence of a smaller-scale,

more locally controlled food system. A new civic

agriculture is emerging and taking hold in every region

of the country. Community Supported Agriculture,
farmers' markets, specialized agricultural  districts,
alternative food stores, and consumer cooperatives

represent important manifestations of the movement
toward a civic agriculture. These new organizational
forms have the potential to nurture local economic
development, maintain diversity and quality in products,
and provide forums where producers and consumers

can come together to strengthen bonds of local
identity and solidarity. By rebuilding the linkages
between farmers and consumers wherever possible,

communities throughout the United States will establish
a foundation for a more socially and environmentally
integrated food system.

@ emergence and potential of civic agriculture

Pointl. AX{9O| paraphrase

- a smaller-scale, more locally controlled food system

- A new civic agriculture

- These new organizational forms

- a more socially and environmentally integrated food
system.

Point2. HjZX|Al
Community Supported Agriculture: Zt X|XtA|2| A|RI&%
(of: +=RAl AlTSF)
farmer's market: 04011}
H Eoists AT (O gd ot

specialized agricultural district: =& E3IX| (0
a5 UERXT)

consumer cooperative: AH|Xt&-SZ3H0: A3 iCOOP)

SO| HiAE SR A
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29| M= #=M9| key words
=> SHHiZ(reason) => F=

(manifestation) => &MH =&
IH(potential)

& Vocabulary

justify MZto}SICt
re-emergence A=

take hold X}j2| ECt
cooperative @S XshE =
manifestation A=z

nurture dSIC} YF=SICE
forum (E29|) % =
solidarity {Lf, 2%
linkage 9ZA

& Translations
HE 0= of22 X4
OlM EO|=
Fo U2 =X A0
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20. Ctg =9 FH= 71y
(554 34 4t)

M5 A

o7
T2 A

Cattle are born with the ability to convert grasses that

we humans cannot digest into flesh that we can digest.

They can do this because, unlike humans who possess

only one stomach, they are ruminants. They possess a

second stomach

called

a rumen

- a roughly

forty-five-gallon tank in which resident bacteria convert

cellulose into protein and fats. In today's feedyards,

however, cows fed corn and other grains are eating

food that humans

inefficiently converting

can

it

eat, and

into meat.

they are quite

Since it takes

anywhere from seven to sixteen pounds of grain to

make one pound of beef, we actually get far less food

out than we put in. It's protein factory in reverse. And

we do this on a massive scale, while nearly a billion

people on our planet do not have enough to eat.

@ inherent unreasonableness of feedyard operation

Pointl.

9x 47|
29| 2 ¢

o &

o <8 2 EMAZI>7F AFEE

“In today's

feedyards, however, cows fed corn and other grains are

eating food that humans can eat, and they are quite

inefficiently converting it into meat” £&0| MA|Z2 2

284 7tsdol s

Point2. CHZ (XtQIO| A9 AFREO| 49| [fX)

2

Ao

the ability to convert grasses that we

humans cannot digest into flesh that we can digest.

AHE%O| A eating food that humans can eat, and they

are quite inefficiently converting it into meat.

Point3. HI7to| mQIE(AAISUAID] 23t2|¢H 0|)

we actually get far less food out than we put in.

Point4. =2|& O H

In today's feedyards, however, cows [fed / feeding] corn

and other grains are eating food that humans can eat,

and they are quite inefficiently converting it into meat.
=> 50| L}Q+= <corn and other grains>2| 2 0{0|| &
oSt o A, <feed A B: AO|H BE HO|2 ZFC}?
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=> Point 3 &1

& Vocabulary

convert HFRLCE F3kSICH
flesh (AFE - S=2))117|, &
ruminant BFE[Z|AZ] S &
resident HZ[AF]SH=; HEXL
cellulose 4S9

feedyard 7t= A%

in reverse ((JA0A) A=,
inherent LHX} & @I, EfALt
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21. Ohg =9 FH = 7t HEs A27?
(=554 34 5)

Although we normally think of floods as destructive
events, flood plain ecosystems depend on floods. For
example, cotton wood tree seeds only develop after a
flood, and waterfowl depend on flood plain wetlands.
Many species of fish gradually lose out to stronger
competitors during normal flows but have adapted
better to floods, so their populations increase as a
result of flooding. Thus species diversity is maintained
by interchanging periods of flooding and normal flow.
Deltas are created and expanded by floods. At normal
times, when rivers are confined within their banks, the
flowing water transports sediment out to sea and
deposits it on the ocean floor. But during floods, river
water rises above the steam banks and covers the delta
land. When the flood waters slow down, they deposit

sediment, thus expanding the delta.

® beneficial impacts of floods on ecosystems

Pointl. 911} I CHZO| 2UES S OfFFEE

thol | HgA 2oy 37

destructive I=WS] although& &3t depend oni} CHZE

increase =7} adapted better2to| 211t

aintained ax 2ol WECHM == S7hit thusE
=%k Q1o

confined e normal time@EZ=7])0f CHst 2¢

expanding =7} deposit sediment?}2| Qlu}

Point2. 2 E7| MAIZ 7ts 2%

1. Thus species diversity is maintained by interchanging
periods of flooding and normal flow. Deltas are created
and expanded by floods.

=> ThusE 3 ¥2TI| AMBAS S 2oly
HaAol= 8RO X2 20= H3H0| Fold
0| UCLEA/ZH) => d=2| t¥d FX|(B)
2. But during floods, river water rises above the steam
banks and covers the delta land.

=> Butg &9 0| U= normal timelto| L, F O QU
= ofZF =l QA E dddte 2%

_21_

Orbikr UNB English(ZI2FZT)
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S4: we normally think of
floods as destructive events
HEZ: flood plain ecosystems
depend on floods.

=7 (0A]): For example 0|5}

o #2 F=E I =g
FHE mete & At

& Vocabulary

flood plain H&t&
cottonwood O|FLtR
waterfowl S Af

lose out to ~Of|A Z2|Ct
interchange: alternate with
delta M2tz

confine 7F&CH, SHHSICH
deposit EFA|Z|Ct
stream bank Z5, 7H25
devastating 1|& 9l
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Disaster response is becoming increasingly complex with

|
=

N

each new event. Whereas dozens of agencies used to
converge upon the scene of an earthquake or flood,
there are now hundreds, and occasionally thousands. In
response to the December 2004 tsunami events, for
example, over 200 organizations addressed the single
issue of water quality, while thousands more provided
food aid, shelter, medical assistance, and many other
victim and rehabilitation needs. Studies have found that
these

despite  coordination responding

agencies still tend to work independently and in an

attempts

uncoordinated manner, resulting in unnecessary delays
and inefficiencies in the distribution and provision of
relief. Lags, gaps, and inaccuracies persist in the vital
information upon which coordination depends. Even

when the non-governmental organizations and local
community organizations involved in response would
like to work together, they are often left out of the
coordination planning processes

disaster response.

before and during

@ lack of organized effort among disaster response
agencies

Pointl. 22X ™ (=XI™
del

- becoming increasingly complex

Eel #5)

mjo
=
el
ot
rr
Fl
ret
mn
10

- dozens => hundreds, and occasionally thousands

- work independently and in uncoordinated manner,
resulting in unnecessary delays and inefficiency

- Lags, gaps, and inaccuracies persist in

- left out of the coordination planning processes

Point2. O{® 2| Points
- Whereas dozens of agencies used to converge upon
the scene of an earthquake or flood, ~

- despite responding
agencies still tend to work independently and in an

coordination attempts these

uncoordinated manner, ~
=> attempts& SAIE XZSHK| =& Folgt A

_22_

Orbikr UNB English(ZI2FZT)

& Tips for Solutions

M0 oISt Fo™el F
HME& ZF1(General sentence)
20044 MLpo|ep Aol 01

2 8 THEcz HdYdt=
HHHQ <G vs S> fx9| 2

& Vocabulary
~0j| ZO|Ct
* convergent: R=E|=, SHEO| &

Ol (20131 6/9% BE=H CHo))

converge (up)on

address CHRLCL X2|SICt
rehabilitation K74, 2448, x=
coordination=Z|(s}), gt=, =H
lag X, X|H|

persist A [X|<]E|Ct

& Translations
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Ch o2 S, 20044 12€€9| X|
Tl S§Y ArAOl| Cig3stod 200717t
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We can say that the new media can be defined by all

four characteristics simultaneously: they are media at
the turn of the 20th and 21st centuries which are both
integrated and interactive and use digital code and

hypertext as technical means. It follows that their most

common alternative names are multimedia,

interactive

media and digital media. By using his definition it is

easy to identify media as old or new. For example,

traditional television is integrated as it contains images,

sound and text, but it is not interactive or based on

digital code. The plain old telephone was interactive,

but not integrated as it only transmitted speech and

sounds and

it did not work with digital

code. In

contrast, the new medium of interactive television adds

interactivity and digital

code. Additionally

the new

generations of mobile or fixed telephony are fully

digitalized and integrated as they add text, pictures or

video and they are connected to the Internet.

@ criteria for distinguishing new

Point 1. ¢IZAlI =2 9l ZAAE

media from old ones

ClEZ St= =AMHIE

For example: (old) media(G) => traditional television(S1)

In contrast:

2o Het

plain old telephone(S2)

new media(G) => interactive television(S1)

Additionally: => new generations of mobile phone(S2)

Point 2. O{®¥1 9| Points

- they are media at the turn of the 20th and 21st
centuries (A)lwhich / when] are both integrated and

interactive and (B)[use

hypertext as technical means.
=> (A9

/ using]

digital code and

A MUAAT} mediagt= 20| Fo

=> (B)o] 4% are ~ and usel| HEILXR
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= el FH2

- the new media can be defined by
all four characteristics simultaneously
- By using his definition it is easy to
identify media as old or new.

=3t MEHX|Q| paraphrasel| &Z|
[characteristics => criteria, identify
=> distinguish]

& Vocabulary

simultaneously SA|0f, 3|
integrated S0l

interactive Metsto| AlS 2822 B
hypertext SlO|HEIAE

it follows that~ Z=~0| E|C}
alternative CHA| Z7}S3t CHOH
definition H9|

plain @t Chaedt

transmit  ™&SICH

interactivity A2k, A O3}
telephony T3} S2HE4A] B
transmission M&, ME

criterion  7|&, BEE (84 criteria)
conventional MEXQl, Fz{9

rir

& Translations
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24. Otg =9 FH = 7ty HEs A27?
(=554 34 8t)

Competition between a major city airport and a secondary
airport is becoming a common feature in Europe and, to an
extent, in North America and elsewhere. Major city airports
tend to be located within the city boundaries, and they are
convenient for passengers. Until recently, they handled all or
nearly all of the traffic for the city. In recent years, secondary
airports, located at some distance from the city, have entered
the market for airport services. These airports may have been
small regional airports, or they may have been military
airports. They are less convenient than the major airports, but
they have been able to attract cost-conscious traffic by
offering lower charges. These have particularly appealed to
low-cost carriers (LCCs), whose passengers are price sensitive
but willing to put up with inconvenience to save money. They
also offer the LCC an opportunity to fly passengers to or
from a city without entering head-to-head competition with

full-service carriers.

@ the successful emergence of a secondary airports

Point 1. =MHIE(EE & HEEES X o Gvs S F=22))
M|A|Z: Competition between a major city airport and a
secondary airport is becoming a common feature in Europe
and, to an extent, in North America and elsewhere.

A 2Tk Major city airports tend to be located within the city
boundaries, and they are convenient for passengers. Until
recently, they handled all or nearly all of the traffic for the

secondary airports, located at some

city. In recent years,
distance from the city, have entered the market for airport

services.

+ R =k
These airports may have been small regional airports, or they
may have been military airports. They are less convenient than

the major airports, but they have been able to attract

lcost-conscious traffid by offering lower charges.

M ®m ZEk These have particularly appealed to
carriers (LCCs), whose passengers are price sensitive but
willing to put up with inconvenience to save money. They
also offer the LCC an opportunity to fly passengers to or
from a city without entering head-to-head competition with
full-service carriers.
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& Tips for Solutions
N & In recent
secondary airports, located at
some distance from the city,
have entered the market for
airport services.

years,
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- In recent vyears, secondary
airports, (located / locating) at
some distance from the city,
have entered the market for
airport services. => 2006 L%
s =HE A2 532 202 &
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- These have  particularly
appealed to low-cost carriers
(LCCs), (whose / where)
passengers are price sensitive
but willing to put up with
inconvenience to save money.
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A ol

& Translations

F8 T A 3ot 2% I 7to|
2|1 o HE,
b2 RojME ZE
QCE F8 EA &
QHoll fIX|st= dEo
Helstot ZZ27K], 2
ngo|

2T
[N}
o N
ORI
mn
lo
[N}
H1
>
1o
— 00 X HI oM
un 2 rlo re = oz

A oA rprxrio @ HiJm
T AE T
k=)

g Mblx

2 472 XY IYOYS +E 9
, EE 78 3YOIUS 4= Uct
2Yse 9 Iysct @ wolo
o o NEY 232 MIBO2M,

8O DY nEFS BosY &
AALL O|HEL EI| X7t SZAIS
of g Bolget, AS2/(KM7 &
3Ah &4 JtA40| ofnistx|et, =2
Hatsto| Qe 7|7M0| gHES Z
sict. 1521 BBSL) =3 K7t
BTA7E BE MHAS HToE &
ZAtete] MEHol AMo| SYsHK|
UD SUS B DAZE B2 O EA
ZEEH MO LIE 7/3E HSstC)



